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QUESTION 1

Match the following commands to their correct function. Each command has one function only listed.

Command Function
C1 cp_admin_convert F1: export and import different revisions of the database.
C2 cp-:a_-clic:-nt 2: export and imf:ort policy package .
C3 cp_merge F3: transfer Log data to an external database.
C4 cpwd_admin F4: execute operations on the ICA.

F35: invokes and monitors critical processes such as
Check Point daemons on the local machine.

F6: automatically export administrator definitions that
were created n cpconfig to SmartDashboard.

A. C1>F6; C2>F4; C3>F2; C4>F5
B. C1>F2; C2>F1; C3>F6; C4>F4
C. C1>F2; C2>F4; C3>F1; C4>F5
D. C1>F4; C2>F6; C3>F3; C4>F5

Correct Answer: A

QUESTION 2

Which of these components does NOT require a Security Gateway R77 license?
A. Security Management Server

B. Check Point Gateway

C. SmartConsole

D. SmartUpdate upgrading/patching

Correct Answer: C

QUESTION 3
Which type of the Check Point license ties the package license to the IP address of the Security Management Server?
A. Local

B. Central
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C. Corporate
D. Formal

Correct Answer: B

QUESTION 4

Choose the Best place to find a Security Management Server backup file named backup_fw, on a Check Point
Appliance.

A. Ivar/log/Cpbackup/backups/backup/backup_fw.tgs

B. /var/log/Cpbackup/backups/backup/backup_fw.tar

C. /var/log/Cpbackup/backups/backups/backup_fw.tar

D. Ivar/log/Cpbackup/backups/backup_fw.tgz

Correct Answer: D

Gaia\\'s Backup feature allows backing up the configuration of the Gaia OS and of the Security Management
server database, or restoring a previously saved configuration.

The configuration is saved to a .tgz file in the following directory:

Gaia PS Ver- Hardware Local Directory
sion
Check Point appli- Hvarflog/CPbackup/beck-
R75.40 - R77.20 |@nces ups/
Open Server Hvar/CPbackup/backups/
Check Point appli-
R77.30 AL B Hvarflog/CPbackup/baclk
’ ups/
Open Server

Reference: https://supportcenter.checkpoint.com/supportcenter/portal?
action=portlets.SearchResultMainActionandeventSubmit_doGoviewsolutiondetails=andsolutionid=sk91400

QUESTION 5

Your manager requires you to setup a VPN to a new business partner site. The administrator from the partner site gives
you his VPN settings and you notice that he setup AES 128 for IKE phase 1 and AES 256 for IKE phase 2. Why is this a
problematic setup?

A. The two algorithms do not have the same key length and so don\\'t work together. You will get the error ... No
proposal chosen...
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B. All is fine as the longest key length has been chosen for encrypting the data and a shorter key length for higher
performance for setting up the tunnel.

C. Only 128 hit keys are used for phase 1 keys which are protecting phase 2, so the longer key length in phase 2 only
costs performance and does not add security due to a shorter key in phase 1.

D. All is fine and can be used as is.

Correct Answer: C
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